Addition |Concrete Pictorial Abstract
Year 1
Introducing .
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addition. 4+2=6
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First Then Now (l) ]‘ ’ ‘3 l‘ ; g ’ é ; ]IO Cherry representation:
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Stem is the whole; is a is a part
) ‘There are... and...”
sentences ‘first..., then..., now...’ ‘We can writethisas ___plus___ '
and is 5 and more ‘The ___represents the...”
vocabulary First Then Now ‘The ___ represents the...’
Demonstrate this in the , . ,
' __isequalto____plus___.
classroom. *  plus__ isequalto .’
First, four children were sitting on the bus. [] +[] [] . 4 and are the addends.”
Then, three more children got on the bus. . . N
Now, seven children are sitting on the bus.’ C1-C=0 ___isthe sum.




Subtraction Concrete Pictorial Abstract
: ‘There are six children. Two of them have put their coats Reduction context — pictorial representation:
S u bt ra Ct l O n on. How many have not put their coats on?’ X Hetl x P ' P I
‘First there wereeightdoughnuts. Then one was eaten. 8_-1=7
Now there are seven doughnuts.’ - =

‘The 6 represents all of the children.’

‘The minus 2 represents the children who have put
their coats on.”

‘The 4 represents the children who have not put their
coats on.’

First Then

Now

Stem sentences and

vocabulary

Demonstrate this in the

classroom.

First, there were five children in the book corner.
Then, two children left the book corner.
Now there are three children in the book corner.’
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Year 1 Concrete Pictorial Abstract
Multiplication Pre-money tokens: ‘How many pencils are there? Count in groups often.’ .

. ‘How many dots are there? Count in groups of two.” The one-penny coin:
Counting,

unitising and
coins
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Pre-money tokens:
‘How many dots are there? Count in groups of ten.”

10

pencils

10

pencils

10

pencils

10

pencils
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pencils

10

pencils

10

pencils

10

pencils

10

pencils

heads tails
Buying goods:
Pencil Marble Mini Eraser
: spinning top
6p 4p 9p 10p

‘How many pennies do you need to buy:

one marble?
oneeraser?

one spinning top?
one pencil?

‘Which purse would you rather have?

Stem sentenc-
es and vocabu-
lary

‘This is a_-p_ence coin. Ithas a
valueof ____p.”

‘There are ___ coins.’
‘Each coin has a value of __p.
‘Thisis___p.’

r

‘I say two pence, but | think two one-
pennies.”

‘I say five pence, but I think five one-
pennies.’

‘I say ten pence, but | think ten one-
pennies.’

r

‘The___ costs___p.

‘Each coin has avalueof ___ p.

r

‘The___costs___p.
‘Each coin has avalueof ___ p.
‘Solneed __ coins.”

r
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Addition Concrete Pictorial Abstract
Year 2 'Madison has two red marbles, Charlie has three blue
marbles and Asif has five yellow marbles. They have Tens frames: 10=2+3+5
ten marbles altogether. . O O . O
// 2+3+5=10
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Part-part-part-whole representation:
0 8+5=8+2 +
Children can use real marbles as manipulatives. o ° ° 6+5=6 + +

Practical:

First, four children were sitting on the bus. Then,
three more children got on the bus, andthen two
more children got on. Now, nine children are sitting
on the bus.”

Chairs could be arranged to support acting out this
story.

1 have three apples, two bananas and four oranges.

8 + >10+ 5

How many pieces of fruit do | have?’ 7
ve 4j | @ N
3 . 2 . 4 T T T T T T 7\—110/]2
5 + a4 5
Stem sentences |‘First | partition the : plus is equal to s
and vocabulary |Then plus is equal to ten...’
‘...and ten plus is equal to . ‘We can look for pairs of addends which sum to 10.’

! plus is equal to ten, then ten plus

is equal to __. *




Year 2 Concrete Pictorial Abstract
Subtraction
Practise telling the ‘First there were twelve children on the ride. Then four
StO}’y as a class un- got off. Now there are eight children on the ride.” 12 - 4
til children are First Then Now /\
confident describ- 2 2
ing it:
‘First there were 12-2=10
twelve children on 10-2=8
the ride. Then four S0
got off. Now there 12-4=8
are eight children o 4 _—
on the ride.’ /\ /\
Subtraction Subtraction a4 2 2 10 2
through ten: from ten: 5 B
—— —— 2 12-2=10 10-4=6
o0 ce 0000000000 0-2=3 6+2=8
.. .. \—’_\/\J SO SO
ii ii 12-4=8 12-4=8
00 oo
@ | @ | /2\/2\ 12 - 3 12-2=10
® | @ | ‘ : : : /N 10-1=9
8 9 10 1 12 2 1
SO
L1 ] L] 12-3=9
Stem sen- We are going to partition the four into two and two.’
tences and ‘We first subtract two from twelve to get to ten.’
vocabulary |, o , ‘
en we subtract the remaining two from the ten — we already know that ten minus two is equal to

eight.’




Year 2

Concrete Pictorial

Abstract

Multiplication

Grouping objects — example 1:
‘There are some pencils.’

There are ___equal groups of eggs.
There are ___eggs in each group.

There are aroups of

‘Look at the representations below.”

‘What's the same?
‘What's different?”

LA
A B B

‘Tick the picture that matches the expression.”

i
L

‘The pencils have been grouped.

4R 22 22 38
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5+5+5

@

A B

4 1x4
4+4 2x4
3Ix4
4+4+4+4
5x4
3 X 2 = 6
factor X factor = product
6 = 3 x 2
product = factor X factor
7Xx2=8x2-2

7XZO 6x2-2

Stem sentences
and vocabulary

‘The groups are equal becausethere ‘Thereare _ and
are the same numberof ___ineach and...

group.’

‘The groups are unequal because
there are a different numberof
in each group.’

___and

plus___ plus...’

‘Factor times factor is equal to the
product.’

“The product is equal to factor
times factor.”

‘We can writethisas__plus ___

‘There are___ equal groupsof ___.
‘Thereare______ineachgroup.’
‘Thereare___ groupsof___ .’

‘Use cubes to show me four plus four
plus four.”

4+4+4

‘I have some groups of apples...’
3+3+3+3+3+3

‘Draw a picture to show the apples.’
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Year 2

Pictorial

Abstract

Division
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2 2 2 ‘There are fifteen biscuits. If | put them into bags of
five, how many bags will | need?’
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‘A farmer has forty eggs. She can fit ten eggs in a box.
How many boxes does she need?’

O
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Describing remainders — example 1:

cloeiele

9=2+2+2+2+1

9=4x2+1
2+2+2+2=8

4 twos

CNNNAN
\AAA

4 twos
8-2-2-2-2=0

30 + 5 = 6
dividend + divisor = quotient
4x10=40
SO
40+-10=4

* __isdividedinto groupsof .

Thereare____ groups.’
* __isdividedinto ___ groups of

r
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‘* _ isthedividend.’

! is the divisor.”

’ ___isthe quotient.




